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Course Code': ENVS-MDC-T-1
(Natural Resource Management)
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Instructions to the Candidates:

. & Candidates will be provided with & question cum‘ answer booklet.

e  The booklet contains 45 multiple choice questions, each éaxﬁing.l mark. Candidates
will attempt 35 questions.from the following (MCQ). -

e Candidates muét fill up his/her Registration Number, Year & Roil Number in the
space provided. o o

e Do not make any rough work on the answer booklet.  *

o - At the endAof the examination pléaée return the answer booklet to the invigilator.
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Answer any thirty-five from the following questions. [Choose the correct option and put

IIX8I5=8

P aefem i Rem Fdon < e 7o o (V) oz il Tt e (-G =fafedfB ):

L,

What is the primary reason for the depletion of groundwater resources in 1 many parts
of the world?

R4 T 2 o7 Tor=in QI A4 IR 2

a) .

b)

c)

d)

Excessive industrial discharge -
Pite g ofefe e fers
Over-extraction for agriculture

TRTIeR T wfsRe e e
Acid rain infiltration

e IR S

Natural evaporation

AFfoT eI

In the context of sustainable forestry, what does "selective logging" mean‘?

(G313 IR (2R, CFdie -3 e § @RIE?

a)

b)

c)

d)

Cutting all trees in an area for maximum profit

T Fred T GF GEIRIE TAE SR ot

Replacing natural forests with tree plantations

opfos e AR gEEAd T

Completely prohibiting tree harvesting

sl st o R

Cutting only mature trees while leaving younger ones intact

S AGEF MR T GR (2 MR e A

What is the main reason why deep-sea mining poses an environmental threat?

NS TG A AT T P Fe

a)
b)
c)

d)

It depletes oxygen levels in the ocean
@5 g A Al ZFT F
It releases heavy metals and destroys marine ecosystems

ﬂ%@ﬁwﬁ%waa\ﬂmm%ﬂm

It leads to increased greenhouse gas emissions -

Gt fares su [sfm 3fa <+

It accelerates coral reef growth

a5 &3 abis I TRRS T

B BE TS B EE T

B SN RE
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[4]
Which of the following is an example of a renewable but ex

G FAS TR e Reis AR Trizge 9

a)  Solar energy
Gl
b)  Freshwater
S
¢) Natural gas
ARFET 5{717
d) » Coal
FHe]
What is the primary cause of desertification in arid and semi-arid regjons?

T% S G-U% R0 TIEER 24 PR Do
a)  Urbanization . '

ERRIEE
b)  Overgrazing and deforestation
ST Aeotler @3 77-Bere
¢) - Earthquake activity

SR> R

d) Industrialization

BEIRD]
The c " = it 2 i
oncept of Carrying capacity" in resource management refers to:
HM JIPTR “I2 =Fwre)” =S '
a)  The amount of natural resources a country can extract in g
year

Lﬂaﬁmaaﬁa‘m'wﬁwa@mwwqmm

b)  The total water-holding capacity of a reservoir
b ST (6 T 4179 oot
c) The maximum population sjze of an environment caﬁ Sustai
ain inde

4T AR SRR oy o1
T : PO TR TR
d)  The maximum weight bridge can support A0S iy

ﬁnitely

ﬁﬁm@ IEW@W’WWNW
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haustible resource?

[_] .

N

O
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What is the primary reason for implementing -community-based natural resource

management (CBNRM)?

TRMAfEes aRpfes =M JZoM! (CBNRM) JIBIRCAS A TR 2

a) To empower local communities in conservation efforts

AFF| QBB ZAA FTRMICIL 0T

b)  To privatize natural resources

ST TR (ERIA

¢) To increase government control over resource allocation

T TR B TR e 3

d) ° To prioritize industrial development over conservation
HRIFER G T TRAEE e e

Bl S )

el

In terms of biodiversity conservation, what is the primary advantage of using the

Landscape Approach?
STl FFER O, THISCEA S IR A AR Fe
a) It focuses on protecting only endangered species
oft ey fem s TR o iR fem T
b) It prioritizes urban development over conservation
af e @ A9 TREE wafEEE om

¢) It considers the interactions between ecosystems, human activities,
and conservation

ofS ArgeE, TET I @R FRFHER W1 T Rl F6
d) It promotes deforestation in non-protected areas

OfS ToRERre AT IH-TES SRS
What is the purpose of constructing check dams in watershed management?
TR TR GFEN iR Sy e
a) To permanently store large volumes of water

eI &pd AR &1 AL T
b) To regulate river navigation

T weioe e =

¢) To slow down surface runoff and enhance groundwater recharge
-0 T AN SifS T IR T W Rvre 3%

d) To generate hydroelectric power

[

o RS A R

.‘:a
TEARL p&?ﬁh—-l x4l | [Turn Over]
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What does the term “water footprint” refer to?

a)  The depth of a river during peak season

MH® T T TSl 5
b) = The percentage of groundwater reservés in a country
=6 (T §oRR, e e e 5
¢)  The amount of rainfall in a specific region
950 e St IBoe (i &
d) The total volume of fr -
| esh i
e water used directly and indirectly by an individual o
| . r
G }:asmemi‘@maﬁs%nﬁwe AT Gage mﬁﬁhiﬁw SR ¢
ich of the following i ' . it
€ 1S a major cause of eutrophicat Gl
_ ophication i :
o1 @ BT GRTT agr pia w7 @k e T
a)  Excessive use of fertilizers leading to nutrient .
AR NS TR sifew ez o il -
b)  Over-extraction of groundwater |
SLCEREIGERCT) Rl =
c¢) High evaporatioh rates
T AR 7R B
d) Increased sedimentation due .t0. deforestat-i
on
IA-TEITGH I ART Ty 3fy .

Which of the following is a major consequence of
el M FE T Fva @l 7l s vff;xc
a) Increase in groundwater recharge .
b) Loss of soil fertility and desertification

6w SOl 9T €= TR
¢) Reduction in agricultyra] pests

3 IR g%
d) Enhancement of soj] structure

essive soil €rosion?
g ¢

BB R

13

14.

15
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Which international agre
desertification?

mﬂ\wﬁrﬁéﬁg@gﬁmﬂmaﬂ?@ﬁ @R ToE g FEm TR

a) Ramsar Convention

b) UN Convention to Combat Desertification (UNCCD)

PEREY EiREE wife AR IO

¢) Kyoto Protocol
Szei) (RNBITE

d) Paris Agreement

i pfe

Which of the following best describes land capability classification?
PR @R g R e FARCINE TREE SIETSE A T
a) Categorizing land based on its suitability for differénf uses .
‘WWW@W%’%%WW RIS RISE
b) Measuring only the soil moisture content b
g A SgeT AR AT -
c) Identifying land that should be left unused
aEe (@04 (reTl T @ o e s
d) Restricting agricultural activities in all regions
e et I e Afre T
What is the prirﬁary fanction of contour farming in soil conservation?
i e Sy RN Qe I S
a) Preventing nutrient loss by deep ploughing
oS BT MO e = @Y
. b) increasing soil compaction for better root support
Frrred SIE AR & oA AR Ja
¢) Reducing water runoff and soil erosion on slopes
Ot S &QiE ¥R WA w1 g9 I
~d) Removing excess organic matter from the soil

Tt @ SeRE ©1 And SR T

ement focuses on préventing Jand degradation and

I Ee e

OorEE e

O
O
O
O
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16. i i
What is the primary goal of Sustainable Forest Management (SFM)?
(BRI IR (SFM) @7 2 o o i

1657

18.

)
)

d)

What is the primary goal of wildlife

Maximizing timber production

6 Bt FRPRe=e! '

Expanding monoculture plantations

G B WKW e

Encouraging complete deforestation for agriculturé
IR & T4 T T@rers T <

Bal L)

I AR, G GEH '

ts of forests

conservation ?

IVAT FITFA A o7 Fro

a)

b)

c)

d)

What is an example of in-

I ! :
ncreasing the population of 3] animal species

T A oo Ty I
Preservi iodiversi
Ing biodiversity and maintaining ecological bg]
alance

IR A @33 SHfiraetors ST TG )y

wm%mwwmmmwﬁm Y T3y

P . ) .
romoting only economic benefits from wildlif;
i
IVAT (R @=L R4l @ 37y e

Situ conservation?

PR Tt St S
a)  Zoos and aquériums
PR @) Wy
b) Captive breeding programs
_ 9 e F7)
c) Seed banks and gene banks
e TIE G oy g
d) Wildlife saihctuaries and nétional parks

INAN S @3 oy G

B

[]

Bl I ] ST B

Bl e o

(9] ik 104/Env.Sc(N)

19. What is a keystone species?

e s e
a) A species that is at the top of the food chain -
4 AR A REe G 2ets '
b) A species that migrates seasonally ]
Y9 S ZAee eafe
c) A species that plays a critical role in maintaining ecosystem structure
and function ' LA
TEeTER S R PR e ACS wFeed G AR T @ g5
oelfs
d) A species that is always endangered , |

20.

2400

Ty AAREeH Tl TR AR FeIR geifke F?

It stabilizes animal populations

. Q)

b)

c)

d)

7 Rl awifo

How does climate ch

G5 et AR

It disrupts ecos
survival

ange affect wildlife conservation efforts?

IEAE e
ystems, alters migration patterns, and threatens species

o AECTT TITS I, AR 47 ARTE T @ e @B A

ZE (T

It prevents spe

cies extinction . .

f% erfen Repid G

It has no impact on biodiversity

O

e ACLERUE @S TSR 12

Which renewable energy source is most commonly used for electri

city generation?

Ry s T (PR AREACIR =T ST AT & IITe B2

a) Biomass | Ol
(SR3E

b) Tidal energy ]
RGBS

¢) Geothermal I

IS i
d) Hydropower il

GETRTIS
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22. Whlch sector has the hlghest energy consumption globally? . | '
el M <ite SR caf?t e A6 =W
a) = Industrial
RE|
b) Residential
Rt .
c) Commercial |
A
-d)  Agriculture

23. Whatis the main purpose of carbon credits i in en

| I IR IR RGBSt

a) To encourage businesses to reduce
emission limits

ergy management?

carbon emissions by setting

fofim M et 2z - i ' 5 | A
.b)  To allow unlimited polh?ijl e T S - |
SN TR S great | 4
¢)  To ehmmate non-renewable energy use |
SRR R T -
d)  To decrease fossil fuel dependence : ‘
R et g | D
g depi)cs ltg;po of mining involves the removal of a large surface layer to access mineral
gww IV Ty @m«mﬂﬁa mtﬂﬁﬁﬁmmwmq
‘2)  Underground mining | -
QI o
b) Opori-pit mining
b E
c) Placer mining
CEPTIY q= 0 |
d) Solution mining L
w3 ol o

O O O O

3
3

] . - 104/Env.Sc(N)

25. Which of the following is a non-metallic mineral?

 frp @D @w Ty < N
a) ~ Copper .
b) Gold .
m .
c) Gypsum e
et -
d), Aluminium -
G RICEIR
26. What is the primary mineral resource used in making cement?
Frors et J9T© i (S W e o
a) leestone ' o
BT LR E }
b) Bauxite -
c¢) Silicasand -
Fiferet 2t |
d) ~ Tron ore O
G e
27." What is the difference between renewable and non-renewable mineral resources?
AATAT AR G- ST AITE W AN ﬁ?
a) Renewable minerals regenerate quickly, while non-renewable minerals
take millions of years to form a
Wmmﬁwwammumw *Uv:ﬁwaﬁz—ﬁ
[ T % I8 A (T |
b) Now-renewable minerals can be used indefinitely - O
-y e SRREIET & TR TN (S AT
¢) Both regenerate within 2 human lifespan N 4
o s A R s | |
d) - Renewable minerals aré always metallic | | _ D
ey 4R T O

. [rum Over]
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Who coined the term "biodiversity"?

“GREDW” *6 (& (o] FCRE ?

a) - Gregor Mendel
(9 (TS
b) Charles Darwin
B BIRORH
c) Rachel Carson
IS P
d) Edward O, Wilson
qUETANG 8. T3
What is an endemic spécies?
G 2uifo e

a) A species found worldwide
R seat T @ 93 e
b) A species that is extinct
Reger 93 aufe
¢) A species that migrates seasonally
AP ORI FE® & v @3f e
d) A species found only in a particular region

BT 43I0 FWE S sieat T awm ol s
Which of the following is NOT a maj

fAta (A EIRTbER o 7w =i w7
a) Habitat destruction
AT R
b) Climate change
- ¢)  Overexploitation
CICECNGILL
d) Soail fertility improvement

The Convention on Biological Diversity (CBD..) was signed at:

tefi (6@ AT FH0eT*H - (CBD) FrFRie 2mifte -
a) Paris Summit i ;
sipifEet M AT
b) Rio Earth Summit, 1992
e o MY AW, Sons
¢)  Stockholm Conference, 1972
TR AT, Spay
d) Kyoto Conference, 1997
RPN ATHT, Sps4q

or threat to biodiversity?

104/Env.Sc(N)

e A ="

- e i e |

B me

P LS SN

32

Siehil

34.

39,
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The Ramsar Convention is related to the conservation of:

AR FAeE [REkRe Renefm Fewee. ame T

a)
)

d)

Tropical forests
Arreay o
Coral reefs

2J1e 2B
Wetlands

Roaion

Desert ecosystems

T IEF

The term "biopiracy" refers to:

a)
b)
c)

o

The illegal hunting of animals

Stadeld A e

The unauthorized commercial use of biological resources .
The destruction of coral reefs

2R[e &DIT KA
The conservation of endangered species

o amifer A

What does biodiversity refer to?

GIRDY TS T @RI ?

a)
b)
c)

d)

The variety of species, genes, and ecosystems in a region
Gl S dulfs, fom R AgeEn [
The total number of animals on Earth

ARSTS GG @A a0

The genetic similarity between organisms
& Wy fEmsre e

The number of trees in a forest
O3 I SN TR

Which biome has the highest biodiversity?

@ A Sy TR @
a) Tundra i

ool ¥
b) Desert : i
¢)  Tropical rainforest

K R AR
d) Grassland

DI

104/Env.Sc(N)

R Dl I (=] S un] =]

LSRR

S
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38.

39,
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What is the primary disadvantage of using non-renewable resources?
RIS T AT H> FIRRAED s sy e
a)  They produce more energy than renewable resources
GETE TIRFRN A0 GR @R =fE Sestmm w7
b)  They are always cheaper than renewable resources
QT ] TR T/ G Tt
c¢) They can be used indefinitely without consequences :
QTS SNTMEDETR & G2 I @S~ @I S iz

d)  They are limited and cause environmental pollution
Qe e 4R AR TR IR =

Why is energy conservation important for both renewable
resources?

TR AR S-FIFARNY T A1 T2 @ 2 377
a) It helps reduce waste and environmental impact
aft I @R ARG el TS A= I
b) It increases dependency on fossil fuels
afb Sy e Sor st 3 wm
¢) It leads to faster depletion of natural resources

aﬁwﬁwmwmﬁﬁwﬁ@m‘

d) It discourages energy efficiency
@i =feq wFee Neaize e
What is the primary goal of bioresource management?
05 T G N o [y
a) Maximizing the extraction of natural resources
AT Tt e wzel
b)  Ensuring the sustainable use of biological resources

c) Eliminating the use of fossil fuels

e ?

d) Converting all forests into agricultural land
TG IS I GHCS TS !

What is the main goal of bioprospecting?

CeR-g R & o7 2 :

a) Finding valuable compounds from biological resources
(G ™ (A T (@9 4w (@1 T

b) Mining minerals from the ocean

g (0T e e Srarer w1

c) Extracting fossil fuels
SR QT SR
d) Creating synthetic materials

Ffa TATI o

EECED ElE L

and non-renewable

e o e

1 B U

T S

41,

42.

43,
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40. Which type of pollution is most commonly associated with mining activities?

TG FATE MY (T LHET T3 TR_OW (@ Sfes 2
a) Noise pollution ‘ .

*H 13
b)  Water pollution

T 3
c) Air pollution

w4
d) All of the above

CLIGERENIG
Which of the following is a direct impact of underground mining?
gorS7 AR TP 2o e PR Serme
a) Increase in forest cover :

I

b) gzglirosion

o7 =
c¢) - Land subsidence

CIEERCECRD!
d) Enhanced groundwater recharge

3 vy does mlnlng . : . |

i tmosphere
a) By increasing OXy&en Jevels in the atmosp
b) By reducing soil fertility
m - .
; "\9 g:.‘enhouse gases such as methane and carbon dioxide
c) gi releasing greenh i s o kel
o G P AR
d) By increasing water table levels
‘ o Wist producer of wind energy?

Which country is the l%ri N :
a) India

Ciqo
b) China

B
c) Russia

i
d) Canada

A

Gl CEli O TR R AF {EE

RS R
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44. Which of the following is the cleanest fossil fuel?

45.

[16]

e @A AIEE FRERE TR gem e

a)

b)

c)

d)

Coal

Fge

Crude oil
AR (oe
Natural gas
Ao o
Peat

f=(5

104/Env.Sc(N)

[i]

[

What is the key challenge in large-scale ad()ption of hydrogen 48 AN eneray source?

1 St o gt e offor

Q)

b)

<)

d)

High carbop emissiong

IR W TR B e

0

O



